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1. AT E cm 3 3 cm 5 :FHT BATC SFH 8 cm 10 T it FaT F = 7% |§ F TreiaT SHa g e |
cm) FETER:E (
(A) 6 (B)8 (C)9 (D)10
Ans. A

2.3 om 9 2 cm T aTer 2 Tea ¥ Fet % T A T8 13 cm 2] R S et # SaTE (em ) &:
(A)12 (B) 6 (C) 8 (D) 10

Ans. A

3.9 2.5 cm a1 arer < gt F FE & ot A L 13 om g| TAdE SwafAy easiar F w9t (cm ®) &

(A) 8(B)12 (C)10 (D) 6

Ans. B

4. The distance between the centres of two circles of radius 6 cm each is 13 cm. The length (in cm) of a
transverse common tangent is:

(A)5(B)10 (C)6 (D)12

Ans. A

5. Two circles of diameters 4.8 cm and 8 cm are such that the distance between their centres is 6.5cm. What is
the length of a common tangent to the circles that does not intersect the line joining the centres?

(A) 6 (B) 6.1 (C) 6.3 (D)6.2

Ans. C

6.2 cm 3T 5.6 cm SATH AT &1 UH I & 1911 Dal o S 14 T g 8.2 cm & I 1 39 U IHAM Y ST it
HETS AT (T ST QY el l (HAT AT T L@T Dl BE Aol LA 67

(A)6.4 (B)7.2 (C) 8 (D)8.4

Ans. A

7.4 cm 3T 2 cm BT a1 I AT F Fl b S B QA 10 G B SITrer VAT wsa@r H @418 (cm #) §:
(A)8(B) 10 (C) 6 (D)4

Ans. A

8. 17 cm F3=a1 aTel T I ®, T ST 3 & 8 cm A T 9 g| SHAT Y < are .47 87

(A) 15(B) 30 (C)25 (D) 20

Ans. B

9.%HET: 5 cm 3T 11 cm FETS, it & AT AB 3T CD HIHIAL § 31X Toh 9 & dhx O % Tah gt a<h g If< Sarst &
= T 3 cm €, T I T AT FT?

(A) 37 (B)38(C) v146cm (D)vV142 cm

Ans. C

10. 13cm F3<AT AT T I § T S{AT, F35 § Sem it g aX | STrat it d9re #1782

(A) 20 (B) 24 (C) 12 (D) 18

Ans. B
11.&%%@@'@?9@?%%%(128§)°%’,a‘rwﬁsﬁﬁﬁﬁaﬁrmsﬁiwﬁwﬁﬁﬁwmmw
&7

(A)21 (B) 17 (C)15 (D)19

Ans. A

12. Two parallel chords on the same side of the centre of a circle are 12 cm and 20 cm long and the radius of the

circle is 5vV13 cm. What is the distance (in cm) between the chords?
(A)25 (B)1.5 (Cc)2 (D)3
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Ans. C
13. TF TH-TGI & TAF qTgL 0T it AT (51§)°%’| T Faser i T S TEeht S[SITst i €T FT ST AT
?
(A)5:2 (B) 3:1(C) 2:1 (D) 13:6
Ans. C
14. In a circle with centre O, AD is a diameter and AC is a chord. B is a point on AC, such that OB = 5cm and 2OBA
= 60°. If £DOC = 60°, then what is the length of BC?
(A) 4cm (B) 3v/5cm (C) 5v/3cm (D) 5 cm
Ans. D
15. Tangents AB and AC are drawn to a circle from a point A, such that ZBAC = 40°. A chord CP is drawn parallel
to BA. The measure of 2 CBP is:
(A) 55° (B) 45°(C) 35° (D) 40°
Ans. D
16. PAT Y ge % g A T U& T9eiR@T &, X AB S0 ag U siiaT g foh 2 BAT = 72° 8| TR I@ W & f8ig C
T I g ¥ 2 CBA = 58°, a1 2 CAB HiI ATT FT &2
(A) 62° (B) 48° (C) 50° (D) 60°
Ans. C
17.T% g # AB 3fX CD fSraTq Us-g@¥ &l E 9 FTedt g S CD = 18cm, DE = 6cm $fiX AE = 18cm &, TV BE =?
a. (A)3cm (B)6cm (C)8cm (D)4cm
Ans. D
18. %% 0 Tt fHlY I 3T, Tah A d ABCD SHTAT AT g SH fA%0T CA T I & 91X (9§ E T @141 AT g
g & fag D 9¥ ED Us ¥q8@T | af AC = 2BC g, af 2DECHHITHITa?
(A) 45° (B)40° (C)60° (D) 30°

Ans. D
19. 0 %% a1 Teh o § (&1 ATT ABC T I & g I 136° FT TF HI0T S9147T SITqT & | STt AB Ft faig P a& J@ran
SITAT § 97 2CBP. Sa< §;
(A) 66° (B) 72° = (C) 68° (D) 44°
Ans. - C
20. In a circle with centre O, ABCD is a cyclic quadrilateral and AC is the diameter. Chords AB and CD are
produced to meet at E. If ZCAE = 34° and £E = 30°, then 2CBD is equal to:

(A) 24° (B)36° (C)26° (D)34°
Ans. C
21. TF g, AABC #it BC YT 9 D %Y Tq8T F<qT & T9T E 3T F 9 F#HeT: AB i AC T9q §| AfX AB = 10 8%, AC =
8.6 9T, AT BC = 6.4 At §, AT BE =?

(A) 228 (B)3.28#t (C)3.58#t (D) 2.5FH

Ans. D
22. %% 0 T fardlT g qe <Y fag A 3 B 3| AT TRt 389 TR feura & & LBAT = 45° 8| OATX U= fag N 3@
v Raa g, %
BN = 10 cm | A NOB ¥ HTf&=sT OM FT #4TE 747 §?
(A) 10v/2Z (B) 5(C)5vV3 (D)5V2
Ans. B



23. AB 3fIX CD, T g it &1 Shamy § ST 9o o e foanelt fig 0 ax woh-qer i wredt g Rargsm g f AB =10 cm,
CO = 1.5 cm 3 DO = 12.5 cm &] AO 3 BO & & 2 i< e &7 (uTa T 872
(A)3:2 (B)3:1 (C)7:3 (D)4:1
Ans. B
24, 0 %3 9T U g § ABC TF AT g, ST I & 3hg I 110° T 107 Jt 3| SHAT AB it foig P a di=ar SATar g| a9
£CBP STEX &:
(A) 65° (B) 70° (C) 60° (D)55°
Ans. D
25, TF 0 %g 9T« g §, AC 3f< BD < a1 g St AC i BD Wieg@ Py S g I ER Mea g| aR AB=m=r 8
3T LAEB = 68° ¢, T .DOC FT AT &;
(A) 32 (B) 30 (C) 44 (D)22
Ans. C
26. TF 90 | AB $fiT DC 21 SAATT §| S AB i DC it M= 3T Srat &, @t 9 P 9 fA=ra g af< PC = 5.6 &+, PB
= 6.3 91 fiTAB = 7.7 3 &, T7 CD A F=s &
(A) 10.15 (B) 9.25 (C) 8.35 (D)9
Ans. A
27. freft g iy sftam AB i P 9= sirege Faram Sira 8, 3% C 997 X 30 T Ua g § 7 PC, 30 & forg e wueiar
g| FfT PC = 18 &ft sfix BP = 15 &y, a1 AB Msaforfeaa & Fraes sxee &2
(A) 8.5 (B)6.2 (C)5.8 (D) 6.6
Ans. D
28. fondT g it 2T ST AB &R CD, 90 & 918X 95 0 I et 8| fRar =T g ™ AB=7 cm,CD =4 cm, 0B=5
cm T OD it FaTE 4T §?
(A)6(B)5 (C)7.5 (D)10
Ans. A
29. T& g |, AD i BC S{1aTT g7 & 1< {95 E 0¥ At g iR BAE = 76°3f% £ADC = 102°, a7 2LAEC faas
THIA gIT?
(A)28° (B) 24° (C)26° @ (D)25°
Ans. C
30. 3=9T 10 cm 3% % 0 9T TF Fe § PQ X PR & THA SA141C g, FSFH & s it wa1s 12 cm 8| SHar QR #Fr
HETS (cm &) FAT 8?2
(A) 20.4 (B)18.4 (C)19.2 (D) 18.6
Ans. C
31. 0 F% qTer Teh g o A1g< (el g P & PA 3i< PB ©q¢f J@TeHl § 9T A TS B, gex 4 &¥ fdg g < 2APB =
30 g,dT LOAB TTaT &
(A)25° (B)50° (C) 15° (D)40°
Ans. C.
32. T g =l I SHATT AB $iiX CD g & 33X fog P IX TH-g8x #1 Hledt 5| AR AB =10 cm, PC = 5 cm ST AP =
4cm§,EFq'CDEI'{I'er(§:
(A) 6.8 (B)9.8 (C)4.8 (D)7.8
Ans. B
33. I 0 Fg T TS I FT AT AB & 3% CD 9 q<g &t Sftar ¢ fora&r ABCD g9« s+ar1 &| a7 2BAC =
28° %, AT £CAD o a31a< gINIT?




(A) 62° (B) 28° (C) 34° (D) 32°
Ans. C
34, 0 %% 9T T gca § ABC TF AT g, ST I & ahg UL 132° T R0 It | AT AB it fig P aw =T Srarg av
£CBP SEX &;
(A) 48° (B) 66° (C) 76° (D) 68°
Ans. B
35. 0 % 9T U gcat § ABC TF AT g ST I & g U< 140° FT R JATAT | AT AB &t foig P asw dfiar stra1 g, a9
£CBP STEX &:
(A) 80° (B)40° (C)50° (D) 70°
Ans. D
36. I 0 F% qT T g &1 AT AB & 3% CD 36 T Stiar & & ABCD #ea a71ar g| Ifs 2BAC =
24° 2,41 2CAD &g srax g
(A) 48 (B) 42 (C)24 (D) 36
Ans. B
37. T g0 it <l STETT AB 3T CD, 97 ¥ e fag P 9% Uh-g@x & FiTedt g| AR AB =7 cm, PC = 2 cm X AP = 4
cm g, T CD SXET &:
(A) 4(B)8 (C)6 (D)5
Ans. B
38. I 0 g T U I FT AT AB & 3 CD TH THL (14T ¢ o ABCD qHe« s+ar &| a7 2 BAC = 18° g, av
£ CAD f&r&eh axrae grm?
(A)18° (B)36°(C) 72°  (D)54°
Ans. D
39, faelt g it ST AB 3R CD 1 92T+ 9X gox & 918 fdg P 49X A« §] I AB=6 cm, PB =5 cm X PD = 4
cm g a7 CD SXIEX &
(A) 7.75 (B) 8.25 (C) 9.75 (D) 7.5
Ans. C
40772 O 5 AT TH I T ATY AB & 3 CD 39 I it Sfiar g Srad ABCD 99« qa1 5| If2 2BAC =
25° %, @1 2CAD o s31a< g NIT?
(A) 65° (B) 45° (C) 25° (D) 40°
Ans. ‘D
41. fet 9o it SHATT AB 3T CD FT 9811 TX 90 & aTg Mg PR At | IR AB=6 cm,CD =3 cm dXPD =5
cm &, 97 PB &L &
(A)6.25 (B)5 (C)4 (D)6
Ans. C

42. %% 0 9T T g A PQR &g Q 9= e wa<ik@T | AB I | e S{1AT § ST TGN o AT g AT
2BQR = 70°%| £AQB FTHIT FIT&?
(A) 60° (B) 55° (C) 35° (D) 40°
Ans. D
43. TF 9 % a1 (1 f9g P 9< PAB Ua &3 @7 § 3 PT Ic it eqsi W@ &, Sigr A, B iR T 9q e f{g 3| afe
PT =5 cm, PA = 4 cm 3fX AB = x cm a7 x f&d STaX gme?
(A) 2.45 (B)2.75 (C) 1.75 (D)2.25



Ans. D

44, In a circle with centre 0. ACBO is a parallelogram where C is a point on the minor arc AB. What is the
measure of 2 AOB?

(A) 120° (B) 100° (C) 150° (D) 110°

Ans. A

45. %% O T I HT TF AT AB B f6ig B 9%, 37 9% CB U w98t @1 8| AC, I A1 G g Frear g IRk g #it
5916 cm 3T AG = 8 cm §, T BC Fr 7+T% &:

(A) 6¥/5cm (B)6vV6cm (C) 2v/6cm (D) 2v5cm

Ans. A

46. I 0 F5 AT I T AT AB g 3K CD 0 TG T S(14T 8, Prerd ABCD 99<s 97dT g IR 2BAC =

158, T 2CADFHhaTatg im?

(A) 30°(B) 75° (C) 45° (D) 60°

Ans. D

47. 3% 0 F5 AT TF 9 T AT AB g 31T CD 39 9 it sfar & S&& ABCD 9H«s s+aT 8| qTe 2BAC =

40° g, T £CAD. e sRraT gm?

(A) 50° (B) 15° (c€) 20°. (D) 10°

Ans. D

48. AB and CD are two parallel chords of a circle such that AB = 6 cm and CD = 2AB. Both chords are on the

same side of the centre of the circle. if the distance between them is equal to one-fourth of the length of CD, then
the radius of the circle is:

(A) 4+/5 cm (B) 3v5 cm (€) 5v3cm (D) 4+/3cm

Ans. B

49. 0 %% T TF o<t i FASAT 10 cm &, PQ TAT PR T4 12 cm it Sftarq g PO, QR 54T 1 fag S wx et g| OS
it TS FATR?

(A)3.2 (B) 2.5 (C) 3 (D)2.8

Ans. D

50. 10 cm 3f¥ 8 cm FB<AT IT™ T g7, P 3% Q fTel 9= TH-g@X I F1ed §] PQ = 12 cm § 3R I & Fhal & A9 x
cm FT T B, T x FT A 3 (IAHAT & TH T T Tab):

(A) 14.8 (B)12.8 (C)13.9 (D)13.3

Ans. D

51. 15 cm 3T 12 cm AT AT T T THIL FHIEA B, 3 ITH IHAY S{rar Ff TS 18 cm g ITF Fal & o1
T (cm F) A g7

(A) 1242V7 (B)12+3V7 (C) 18+V7 (D) 15+V7

Ans. B

52, T Hhfad gt it (AT 15 cm 3R 9 cm | T I & SHAT T FATS, (haeT & ST S1e Iod I Taeian g

(A) 18(B) 20 (C) 25 (D) 24

Ans. D

53, fareft g it SfaT AB 3% CD TH-g@X AR TT A PR FedT 8| AR AB=6cm,CD =3 cm X PB=4cm¥,
A PD Fr =Ts (cm H) &:

(A) 5(8B) 2 (C) 6 (D)7

Ans. A




54, TF I & % O § ST AC T0T AT g| BD TS SHaT 8, ST AC FT E W FredT §| Mg AT B sik D & M=mar g af
£BOC=50° 3T 2AOD = 110° gl «BEC =7

(A) 80° (B) 55° (C) 70° (D) 90°
Ans. A
55. T g AAPQ FY /ST PQ i foig R U< QT {SITAl AP 3f< AQ ¥ F@T I FHH<T: B ¥ € fageli Tt w<ar g
Tf¥ AAPQ %7 91T 30 cm &, 97 AB Y aTs &:
(A) 12(B)10 (C)15 (D)20

Ans. C

56. TF g #, AD i< BC Sfamy 9o # argx fog E o= =t 8 R LBAE = 76°3¥ £ADC = 102°, 1 2AEC e
THTT g7

(A) 28°(B) 24° (C) 26° (D) 25°

Ans. C

57. %% O aTer fanet go 9 a7 fag A i< B B| AT TasiaT 30 T FRua 8 fF .BAT = 45° | OATR um fAg Ns&
T Rua g, &
BN =10 cm §| A NOB F HTrT OM it FaTE T §?
(A) 102 cm (B)5 cm (€) 5v3cm (D) 5vV2cm
Ans. B
58. AB 3T CD, T gt il a1 SHATy § ST g o e fondT g 0 9= Toh-gur it et g fRargem & 6 AB =10 cm,
CO =1.5 cm 3T DO = 12.5 cm §| AO 3X BO F & 2 i Fre T SIUTT T &2
(A)3:2 (B)3:1 (C)7:3 (D)4:1
Ans. B
59, ST¥TH O & 2, et R feaw § v wuetie et gomear o o THheaaTe i & St W@ 8| TR T 6
T AR FT g T A T Yo o A ST I T (T T H07 T 10° TT7| T g7 a7 g 10 Fror i,
Foa gL @ et wiaera g\ (R /) = grnti?
(A) 10(B) 20 (C) 5 (D) 15
Ans. C
60. et g it < STaT AB &I CD, I & 18X fig 0 W et g Raram g f AB=7 cm, CD =4 cm, 0B =5
cm T 0D FT FaTE T §?
(A) 6(B) 5(C) 7.5 (D)10
Ans. ‘A
61. T IIHST ABCD U I & 3iaX § a1 3% 0 §| I LBOC = 92° 3{i¥ LADC = 112°,dT1 £ABO & g9

gI?
(A) 24° (B) 26° (C) 22° (D) 28°

Ans. A
62. 3% 0 9Tt fheT g #, AT AB 3T SfiaT CD T#H-g8Y 1 E T FTed §, AC SfIAD &l SIS 14T g 31T
£BOC = 48° 3T LAOD = 100° g, T 2CEB il HTT 47 8?2
(A) 78°(B) 74° (C) 72° (D) 82°
Ans. B
63. 0 &g 9Tl fheT g A AB U# oA 3 C, D 3 E g, 9o TX AB &t Uah aT% 56 YF1K g f ABEDC U G g
T ACD < DEB &7 19T gI°1T:

a. (A)225° (B)240°(C) 180° (D)270°
Ans. D




64. 3% 0 T I & 3ia< ABDC TF T ITH 5, FOa#H AB I %7 =419 8| AC 3R BD Fi S@TT S(TAT g ST ETX
A | SR £CED = 70° g, T 2COD FIT gRIT?
(A)60° (B)45° (C)40° (D)30°
Ans. C
65. fet 9o 1 %% 0 § fSraa< PAX sfiX PBY, faret faig P & faig A sik B R ensR@T W@ g| T =R Q U g §, 't
£QAX = 49° TIT LQBY = 62° g| 2 AQB I AT FIT &7
(A) 63° (B) 69° (C) 59° (D) 67°
Ans. B
66. T I Tl FI¥ST ABC (&< S9T4T 4T ] I8 AB, BC 3 AC SSITSH &Y %H4T: P, Q 3% R fageit ux wust wear g
X BP = 5¢m, CQ = 7cm 3T AR = 6 cm 8, @T A ABC it aiRfAfa (cm ®) grft:
(A) 37.25 (B) 35 (C)37.5 (D) 36
Ans. D
67. T x2 + y2 = a2 & et fAg & I x2 + y2 = b2 qx =AY 1€ Toreh Ta@vaqi it eqef-strar (chord of contact), I x2
+ y2 = C2 3T TH T FAT & F bp = am ¢n, 51T myn,peN, a 3 m, n, p RER AT T m+n+p + 3 FTHAEE:
(A)7(B)6 (C)2 (D)5
Ans. A
68. O %% Tl faet g % ITg< fog P & PA 3R PB T98X@TT | A i B, Iq WX fag g af?
£APB = 72 °TT L0AB TTT&X ¢
(A) 36° (B) 24° (C) 18° (D) 72°
Ans. A
69. X24y? = a2 I % U (6§ & x2+y2 = b2 I T (=T 7T TTL@TRA % TTLT [ SIS qTAT SAT x24+y2= C2 I Tl
TH T T FT § f bm = ance § S® myn,p, € Ng, 3 m ,n, p TH-g0R * T 5917 §, T m+n+p-3 FTAF E:
(A)1(B)2(C) -1 (D)O
Ans. A
70. 7 cm 3fT 9 cm 3547 % I I TH-TAL T A i B fa et X #71eq 8| I AB = 10 cm g SR I & il F &t
ﬁ{ﬁ'xcm%,?ﬁ'xﬁv‘l’ﬂ'lﬁ'%:
(A) 2(vV6 + \/7) (B) 2(V6 + \/14) (C) (V6 +/14) (D) (V6 +7)
Ans. B
71.7 cm 3T 9 cm FBAT % I g, g A 3R B UX TH-AX F FTed g S AB = 6 cm B, T T 6 Fal 3 A1 bl
T x em &, A x F AT (Reweaw qurts #) &
(A) 10 (B) 14 (C)12 (D) 15
Ans. D
72.5 cm 3T 8 cm FB<AT AT T T TH-AL HT AT A 3T B I Feq &] I AB = 8 cm &, 3 I & Fhal o6 o 1 ot
T x cm &, A x FT AT (Reweaw qurts &) gRm:
(A) 9(B)8(C)10 (D)11
Ans. C
73. 0 % FTeT Toh I % 32 UF (I TAT STe¥sr ABCDEFGH, RTHa | LAOB AT L0AB T ST9TT FT §IIT?
(A) 4:3(B)3:1 (C) 8:3 (D)3:2
Ans. d



